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EXERCICE 1.1 - Calculer : 

a. (-4)3 = (-4) ×××× (-4) ×××× (-4) = -64 
b. 54 =  = 
c. (-6)3 =  = 
d. 26 =  = 
e. (-10)3 =  = 
f. 28 =  = 
g. (-3)4 =  = 
h. (0,1)3 =  = 
i. (-5)5 =  = 
j. (-100)5 =  = 

 
EXERCICE 1.2 - Calculer : 

a. 4-3 = 
444

1
××

 = 
1

64  

b. (-2)-5 =  = 

c. 3-4 =  = 

d. (-10)-4 =  = 

e. (-0,2)5 =  = 

f. =






3

4
1   = 

g. =




−

4

3
2   = 

h. =




−

2

4
3   = 

i. =




−

−3

5
1

  = 

j. =




−

−4

5
2

  = 

 
EXERCICE 1.3 - Donner le résultat des calculs suivants sous la forme « an » : 
a. 52 × 54 = 56 b. 4-3 × 48 = c. (-6)-7 × (-6)2 = d. (-3)7 × (-3)-4 = 
e. 5-3 × 5-1 × 58 = f. 79 × 7-8 × 7-3 = g. (-8)2×(-8)-5×(-8)-1= h. 92×9-1×9-7×9-4= 
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